13418040

-1
m
2.4m 1:2 7.9m
1/10 2002 7 31 2.0m%s
-1
-1
DO pH

67U+6UU +aﬂ:_gaiH_gT3U.‘lU +V 4+ 0 T ii_%U-‘/UZ_FVZ (l)
ot X oy ox  h¥ oX p 0y p 2
N UV AW H g ; 0ty Coby\, oz )
AL AT AN AL AR Y A VA VE . S A AV TNV
ax Ty T Ty n® Vil payp 2 v
ih+8hu +6hV 0 3)
ot ox oy

au U 2 | v N V) 2 4
rxxzpv{ax+axj—sk,rxy:pvt[ay+ax}ryy:pv(ay+ayj—3k Q)

u Vv h Nt
0 v v, =g,hU. £0=0.14

k 0 k=0 Co Bx

By xvy
-1 50cm



8 32
28.2 e [ ] ™ ii
28 o 6 ° * ¢ 4 31
g 27.8 1 30
B 276 \n T4y o o m
1 4
274 | E . .pH(o
272 2 OpH 28
*
27 ¢ o
! 0 27
15 1 2 3 4 5
x(m)
-1 2 -3
umis) [0 os
1255 -13 0§ 08 03
-10 | -10 ; ” [—q=2.0mé/s( )
-8{|: -8 i 0'022 - Q=2.0mi/s( )
= 611 = 6y . 015
4 -4 < 4 £ o1
21 21 > 0.05
01} 0f: 0
21 20 -0.05 <
4| : 4 ol
6 I ; 6 -4 2 0 2
0% 6 8 10121416 0} X(m)
y(m) y(m)
-4 -5
-3
Co=1.0, B«=B,=5.0(1/m) Q=2.0m%/s
-4 70cm
-5
2m
4m 30cm 1/2000
15 2l/s 4cm
0.3cm 6cm 0.9cm
lcm -2 -6 -7
1/120s 16

PIV



-1

£la| |8 [
S|w IS <t < 3
HRINEIE: 2 5 8 > 5 :
> = 2 o 3 S
& 8] 5 o |ts s
= = = —‘ e
o @)
€lo [e2) £
& m 2l . [ = 2
: D
<L nmv_ Y= Q0 o] W IR
= = © 2] Q ™ 2 i
Ahaeas
3 s E 2 «Q o) S EET:
&l &l 3 5 = o : i
<lzle =l 2 B Sl — i AR
(3|23 st
3 Y— 15 psiigs
[— [ OWJ < Mx." jain
. © = Qo %) Naird iniin
= - T Y ™ = ANRRerL YyiIiiiilye
7] o fa2) — ARy pryviasiil :
2 S 2 M % ~ = Lomneiierineiniing:
Tl o lEla = = = s N g e et ©
IEEE i g Bl — 8 W PR
Lo o
= @)
[ - (- - o
o Q
~| = b~
2 3m € o .m 3 W__ b - S —
sle o nEE A ° b3
/m\nw.wm 5 £ s a = 5 T IEma s
o ~Nj@ =l ] = = = ° "N el ° 52 o
S =mmn = mw#l,.ﬂm/ °
g c e S
S "mma -
= EEEa
2 ammn Mnm W { M H 22
< w3 = )n.u: W
> E el o NSF o
W 6 [N & °
o el ammn
< v, y 2 nmma® 3
= o
o m 1l TEEE
= © a 2 nE oS S
- > 23] TEa ISRNeSRES Lo A -
a = 1 LI AT
.m E . "5 85583883 “5 355838343
mg/A mg/A
~ g/
o
? ! |
o ~ -
o)) o |3 [+ SIIRITIRIn N
S T2 Pe TR
P = x T =~ T ST eSS 44
= - SN 1311102 H o
44
1e
£ oo |l F -
:
> © n_ﬂ ‘mnw W Lm"" mnm
- o = 11
o A X 5 Hnn I
H ° 9355544 '
m JESSSSH I
> Z 2 i e
O;iﬂn\\\\ i
W) i
11 SN
< P )
o 23858835333
= mg/hk

wof w3b wob



wl2f willm

CICy

C/C, =exp(-t/z) (5)

i WOf

0.8

06

W1im

C/Co
5
-
4%

T
-2 ) T sec
1/2
wh w3f wo6f wof
28.7 50.8 64.9 64.5
wil2f wllm w3b w9b
138.9 185.2 24.2 84
w3b wb
0 03
10— )a__‘_¥t\§er~ 1.0
a7 /'/'/'/V/)__.;_..\\ voe :::
Bt PSS o 0.8%7 "
SR T
Launder- sl 1 110 ";;/)},.:: 00
sh ‘ Foal 1IN e ed Toadl
arma - o :'\fi\x““ﬁéé B33 3t
1)-(4) RN E AR LR T Y SN P S0
0.0 0.3 0.6 0.9 12 15 0.0
Vt x/Bw
k2 ( ) -11 -E
v,=C f — (6
t uu z wsd  wef
CH fu k =
k &
ik+%+%:£ Lik +£ Lik +G_(§+ D)+ ka(7) _3
ot ox oy oxlo,ox) oylo, oy
g g g e c g 72 fﬂ fl f2
6s+ws+av826(%68}@(%65};6_%8+E+pEV(8> e
a ox oy o ox) oylo oy) k k 2[@ Z[ETU] exp{(lgmso)z] 10 | 1-03exp[-RY)
2 (o)
E=¢6— ZV[NE] ©
oy
G Ci C Ok Og¢ ka Pev
-3
ws4  wof -11 ws4  wof
ws4

PIV






